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Questions

Micro waves are used in:

The advantages of electronic mail are:

The waves which travel in straight line through space and have strong signals are

called:

Coaxial cable are used to transmit signals:

1GB=

1MB =

1KB=:

Which of the following reasons increase the importance of computer:

Answers Choice

A. <p class="MsoNormal">Radio<o:p>
</o:p></p>

B. <p
class="MsoNormal">Television<o:p>
</o:p></p>

C. <p class="MsoNormal">Mobile
phone<o:p></o0:p></p>

D. <p class="MsoNormal">All of
these<o:p></o:p></p>

A. <p class="MsoNormal">Fast
communication<o:p></o0:p></p>

B. <p class="MsoNormal">Cost free
service<o:p></0:p></p>

C. <p class="MsoNormal">More
efficient<o:p></o:p></p>

D. <p class="MsoNormal">All of
these<o:p></o:p></p>

A. <p class="MsoNormal">Micro
waves<o:p></o:p></p>

B. <p class="MsoNormal">Mechanical
waves<o:p></o:p></p>

C. <p class="MsoNormal">Light
waves<o:p></0:p></p>

D. <p class="MsoNormal">Magnet
waves<o:p></o:p></p>

A. <p class="MsoNormal">Magnet<o:p>
</o:p></p>

B. <p class="MsoNormal">Electric<o:p>
</o:p></p>

C.<p
class="MsoNormal">Mechanical<o:p>
</o:p></p>

D. <p class="MsoNormal">Both
mechanical and magnet<o:p></0:p></p>

A. <p class="MsoNormal">1022MB<o:p>
</o:p></p>

B. <p class="MsoNormal">1023
MB<o:p></o0:p></p>

C. <p class="MsoNormal">1024MB<o:p>
</o:p></p>

D. <p class="MsoNormal">1025MB<o:p>
</o:p></p>

A. <p class="MsoNormal">1022KB<o:p>
</o:p></p>
B. <p class="MsoNormal">1023KB<o:p>
</o:p></p>
C. <p class="MsoNormal">1024KB<o:p>
</o:p></p>
D. <p class="MsoNormal">1025KB<o:p>
</o:p></p>

A. <p class="MsoNormal">1024
bytes<o:p></0:p></p>

B. <p class="MsoNormal">1024 KB<o:p>
</o:p></p>

C. <p class="MsoNormal">1024MB<o:p>
</o:p></p>

D. <p class="MsoNormal">None of
these<o:p></0:p></p>

A. <p class="MsoNormal">Speedy<o:p>
</o:p></p>

B. <p class="MsoNormal">Long time
storage of memory<o:p></0:p></p>

C. <p class="MsoNormal">Quick
decision<o:p></0:p></p>

D. <p class="MsoNormal">All of
these<o:p></0:p></p>

A. <p class="MsoNormal">CPU<o:p>
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Which component is output device of computer:

Information storage device work on the principles of:

What is fitted in telephone receiver:

When a body moves to and fro about a point, its motion is called:

</o:p></p>

B. <p class="MsoNormal">C.D<o:p>
</o:p></p>

C.<p
class="MsoNormal">Keyboard<o:p>
</o:p></p>

A. <p class="MsoNormal">Heat<o:p>
</o:p></p>

B. <p class="MsoNormal">Sound<o:p>
</o:p></p>

C. <p class="MsoNormal">Light<o:p>
</o:p></p>

A. <p
class="MsoNormal">Electromagnet<o:p>
</o:p></p>

B. <p
class="MsoNormal">Diaphragm<o:p>
</o:p></p>

D. <p class="MsoNormal">None<o:p>
</o:p></p>

A. <p class="MsoNormal">Random
motion<o:p></o0:p></p>

C. <p class="MsoNormal">Linear
motion<o:p></0:p></p>

D. <p class="MsoNormal">Rotatory
motion<o:p></o0:p></p>



